
� � �� �� �� � � �� �	 � 
� � � �� � � �
� 	 � �� �� � � � � �� �

� � � � � � � �
� � �� � � �	 � � �� 	 �

�� � �� � � ���� �� ��� � ��   ! �#" $%& ' $ � � �#( ( ) � $% )  !

* �+ , '- . �- �� , / � , ,+ �- �0 �+ � � . � � , �- 1 � �2 3 4 576 8

. $ � , ' 1& � + �% . /- �9 � 1 � � � ': , ) ; � '- �< 1& �- = � �

Mπ1/

> > > > > > > >> > > > > > > >? ? ? ? ? ? ? ?? ? ? ? ? ? ? ?

π

N, ∆

π
b ~

@ AB ACDE DF GE H BI JLK M N K O P NQ R ST CE U V WX JYZ [ \ D] ^ S_` J S @ [

@ ABa b C] BF K Mdc K O P c R Y F bE E e fD I D] gh ` i S jk k

\ blm em I CE UY @ \ D] ^ S_n S \ Jo iDp

) " ' . �% ) � - . � ; �- . �- , �- �% / �� � � � � � . '- q *r �

) s �% � ,� '- , 't uwv x % � 9 � , ': y � r



	 � � �� � 	 �� � �� � �� � � � � �	 � 
� � � �� �� �� 	 � �� �

� � �� � �� � �
� � �� � �� � �

� � � �� � � �� � � �� � � �
� � � �� � � �� � � �� � � �P

∆T

� � � � � � � �� � � � � � � �� � � � � � � �� � � � � � � �GPD

xP xP

ρ

x

xP

tra
nsvers

e
longitud.

�
	 HF �DF �] 
� �Y m b�E 
� �

� � + �- � 0 �+ � � 1 ' ' + . � - � , � + � ;+ � � �- , � ,� '- �� � � �

� ��� � � �

g g B� �DF ] B I A m ] � l B l U !"
� #%$ & ')( *+ ,- . / ��� � & �

] F D I Aa bF A b A �D] m DE�m A] F m p H] m B I

#0$ & / � � � & � � / � � � E B I 1m ] H � Ul B l bI ] H l � bI Am ] 2

� � + �- � 0 �+ � � ��3 � ': - $ 1% � ' - � � ) . � ;� �

4 & $ 5 6 � 7988 �

� � � � � �

� ��� �:� � � �

; � ' 9 ' = + � ;& � 1 � 9 � = �=< ': - $ 1% � '- � ,> < � . �



� � 	 � �� �� � � � � � � � � � � � �

Mπ1/

� � � � � � � �� � � � � � � �� � � � � � � �� � � � � � � �
b ~

p

k

p − k

k

p

0

0.2

0.4

0.6

0.8

0.01 0.1 1

R
an

ge
  

1/
κ 

(y
) 

 [
fm

]

y

y 
=

 M
π 

/M
N

� \] F m �l D I J [� J	 _ Y 
� J 
�
 
� � �� 
 

 � �
� * �+ , '- . �- �� , / � ,2 3 4 576 8

. $ � , ' � ': , ) ; � ' - �< 1& �- = � ����� 3 6 8 �

/�� � �� �2 � �

�
�

# �
� / 8� � � �2 � /�� 8 ��� 5 � �

� * � ' - . � � ,+ � � $ ,� '- � - - $ 1% � '- 1 �% 1 $% � � % �

� - 9 ' . �% ) � - . � ; �- . �- ,� � /

� � e C � D I I bE C H] � [ H] � B A � 2F HE b A� h B� P � BF l � D C] BF A 

� ! $" �� � , � � % � � ,& � ) . � ;� + �- = �

/ 8� �� �2 � 3 ')( # $% &('

[ �m F DE C B I ] F m p H] m B I B I E 2D] )* + , W + -  



� � � �� �� 	� � � �� �� � �� �� �

� � � � � � � �� � � � � � � �� � � � � � � �� � � � � � � �
π

N,

π

∆

0

0.2

0.4

0.6

0.8

1

0.01 0.1 1

∫ d
2 b 

 b
2   

f π N
 (

y,
 b

) 
 [

fm
2 ] 

y

b > b0 = 0.55 fm N

∆
� t v � ,+ �- �� ,� '- � ;& �- ' 9 �- ' % ' = � 1 �% % /� 9 ; ' + , �- ,� � 8 �� � �	� 5�
 � � 8 � �

� � ' 9 ; $ , � . $ �� - = ; ' � - ,% � " � �

� s �+ � , � ) � 1& � � - = �+ > �% . �

� 
 � ' � ; � - . � ; �- . �- 1 �


��  � �� � � � # t � 
 �


�� ( � ��� � # t � �

* � '- 1% ' $ . 1 ' - ,+ � � $ ,� '- � ,+ '- = � � ,

� - � � ' � 1 �% �+ 1& �- - �% � � � �� � � � #



� � �� � � �� � �

� � # � � 3 t $ u : $- �t u � �

� � # 3 t u : $- �t u � �

longitud.

transv.
b

λ

� \] F m �l D I J [� J 

 �

� t uwv x % � 9 � ,� t � � . � = �- �+ � , �

�� � P NQ R � � P

� P c R � �

� s � � , ' + � � = �- �+ �% t u 1 ' $- ,� - = ': *r � �

�Y m D � BI B a b] DE U 	 k �

� * � ' - . � � ,+ � � $ ,� '- 1 �% 1 $% � � % � : + ' 9

1% � � �� 1 �% � ' % � , '- > �% . � ,2 3 4 576 8


 P �� � 
c �� � N� �� � 
 �� � N� � � P �

� ���� ��c � � ,- 
 )��� � 
 �� � �

; * � '- 1% ' $ . < 1 '- �� � , �- , � � ,&

4 5t u �< ; �- �� '- ': *r � � � - y � r



�� � � �� � � � � � � ��� � � � �� �

cloud
Pion

πM1/

11010−31010 −1−2−4

11010−31010 −1−2−4

0.1

0.4

0.3

0.2

"Diffusion"

ρ< 2>g

x

x

α
g
’

HERA
Fixed
target

Valence
quarks/
gluons

� \ CDE b ��� � � G bZ � �

�" ' . �% ) � - . � ; �- . �- , 1 ' - ,+ � � $ ,� '-

, ' = % $ '- . �- �� , / � ,2 	 2 
 3 �� �: 9

� ; 1 ' + � + � . � $ �< �

� * + ' . $ 1 � � > - � , � � - 1+ � � � � � - 42 $ 5 
� � ,� � �- � 3 �� � �- . � � 6 8 5 6 �

C� U � e AE B � b� 
 V WX �

� q � 0 � � 42 $ 5 � 	 42 $ 5 
 � , �9 �% % �

C� U � 
YZ [ \ ��� � 
 V WX � ^ S_`

�� � � BI E 2

� \] F m �l D I J [� Jm I �F b � U �



�� � � �� � � � � � � ��� � � � � � 	 � � �� � � �	 �
�

� � ��

� � � � � � � �� � � � � � � �� � � � � � � �� � � � � � � � � � � � � � � �� � � � � � � �� � � � � � � �� � � � � � � �

π π−+

p n p

−

∆

π−π+

0

0.5

1

0 0.1 0.2 0.3 0.4

an
ti 

 d
(x

) 
− 

u(
x)

x

Pion cloud

b > b0 = 0.55 fm

 ± 25%

FNAL E866

� \] F m �l D I J [� �m I �F b � U �

� ; * � ' - 1% ' $ . < � �+ % / � $ = = � � , � .

, ' �< ;% � � - � # 	 � � �
	 � B l D A j� �

� � ' ' + . � - � , � � ; � 1 � �- �% / �� � �& '� � ,& � ,

% �+ = � )2 1& � + �% 1 '- ,+ � � $ ,� '-

� , ' ' �9 �% %

� 1 '- 1 �- ,+ � , � . � , �9 �% % �

� AD l b� BF 
� K 
�F B l �� � 	F B � A � 2 b] DE U �

� *& �- � 9 ' . �% � � � ,& �t : ' + 9 : � 1 , ' + � �

� � + , $ �% � ,� � � � $ 3 4 q � � $ � � � $- ;& / �� 1 �%�

� % � 0 ' + � � /9 9 � ,+ / � #� � � 	 � . $ �

, ' � $ �+ " 1 ' + � � * � $% � � % ' 1" � - = �



� � � � � 	 �

� � + �- � 0 �+ � � 1 ' ' + . � - � , � + � ;+ � � �- , � ,� '- � q *r � � �% % '� � : ' +

9 ' . �% ) � - . � ; �- . �- , � . �- ,�> 1 � ,� ' - ': ; ; � '- 1% ' $ . < 1 '- ,+ � � $ ,� '- �

2 3 4 576 8 � � � 6 8 5 6 �

� �& � + �% � ' % � , '- ; � 1 , $ + � : ' + t uwv x 1 ' � - 1� . � �

� � ,& ;& �- ' 9 �- ' % ' = � 1 �% � ' : , ) ; � '- �< 1& �- = � � , % �+ = � 2

� * � '- 1% ' $ . � ,+ '- = � � , � - � � ' � 1 �% �+ *r � � �

t � 
 � � 1: � % �+ = � )t u % � 9 � ,

� � + $ � ; ; � '- 1% ' $ . < 1 '- ,+ � � $ ,� ' - , ' � #� � � �9 �% % �

� � � �+ 0 � . � � /9 9 � ,+ / �� , � � - � $ �+ " 1 ' + � � * � $% � � % ' 1" � - = �

q *r � 9 ' � , $ � �: $% : ' + - $ 1% � '- � ,+ $ 1 , $ + ��


